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 1  :

           :
P

v
41,

  P       

      .

  :M(H) = 1g/mol  M(0) = 16g/mol     :R = 8,31 Pa.m3.mol-1.K-1

Q.1      v       :

(E) :  (D) :
RM

T
v

41,(C) :
R

MT
v

41,(B) :
R

MT
v

41,
(A) :

M

RT
v

41,

Q.2                 :

(E) :  (D) :    

  

(C) :   

  

(B) :    

  

(A) :    

 .

Q.3         = 0°C   v = 331,45 m / s    

(E) :  (D) : 228,9.10 /g mol(C) : 22,89.10 /kg mol(B) : 2,89 /kg mol(A) : 340 /g mol

Q.4     L = 10m    = 20°C       

    .  :

(E) :  (D) : s21023 .,(C) : s11032 .,(B) : s21032 .,(A) : s32,

Q.5         880Hz       (H2)  

 = 20°C                 :

(E) :  (D) : cm12(C) : cm152(B) : cm74(A) : cm417,
 2  : .

         U238
92

 m(Y) = 206,0385u  m(Po) = 210,0482u  m( ) = 

4,0015u  1u = 1,66.10-27kg = 931,5MeV/C2

Q.6      :



C3 

u 

C1 C2 

(E) :  (D):   (C) :  (B) :   (A) : U238
92

 

Q.7   Y :

(E) :  (D) : U238
92

(C) : Pb206
82

(B) : Pb124
82

(A) : Pb128
82

Q.8    3   :

(E) :  (D) :(C) :(B) :(A) :

Q.9  E MeV     3  :

(E) :  (D) : 7,64(C) : 5,64(B) : 3,64(A) : 1,64

Q.10      t1/2 = 138 jours    99%      :

(E) :  (D) : 9160,58jours(C) : 9160,85 jours(B) :915,85jours(A) : 13800 jours

Q.11       m0 = 2g       :

(E) :  (D) : 2,36.1018 Bq(C) : 2,36.1017 Bq(B) : 2,36.1016 Bq(A) : 2,36.1015 Bq

 3  :.

   :  Vu 600            

FCCC 1052 321.

   :  C1  C3 )   (         K )

.(

    K    CD    AI 50 . kgNg /10.

Q.12   UMN    C2  :

(E) :  (D) : 150 V(C) : 140 V(B) : 130 V(A) : 120 V

Q.13Ce      AB  :

(E) :  (D) : 4,25 F(C) : 3,25 F(B) : 2,25 F(A) : 1,25 F

Q.14           Ee :

(E) :  (D) : Ee = 0,225J(C) : Ee = 0,325J(B) : Ee = 0,425J(A) : Ee = 0,525J

Q.15     Ee          m = 5g  h :

(E) :  (D) : h = 0,5m(C) : h = 4,5m(B) : h = 2,5m(A) : h = 1m

Q.16   t             UCD = 50V  :

A B M N C1 

C3 

I0 

K 
C D 



(E) :  (D) : t = 60s(C) : t = 40s(B) : t = 30s(A) : t = 20s

 4  :.

       

mNk /20     (S)  m = 

200g     (S)  ( )

  = 30°    . 

       ),( iO 

Xm = 2cm       

     O   t = 0  :

kgNg /10.

Q.17 l0     (S)  :

(E) :  (D) : l0 = 5 cm(C) : l0 = 4 cm(B) : l0 = 3 cm(A) : l0 = 2 cm

Q.18         :

(E) :  (D) : 0x
m

k
x(C) : 0x

mg

k
x

sin
(B) : 0x

mg

k
x

sin(A) : 0x
mg

k
x

Q.19       t
T

x
0

2 2
102 cos.  (T0, )    :

(E) :  (D) :
2

286 ,, s(C) :
2

6280 ,, s(B) :
2

286 ,, s(A) :
2

6280 ,, s

Q.20        (S)   t = 1,75T0 :

(E) :  (D) : F = 1,4N(C) : F =2,4N(B) : F = 3,4N(A) : F = 4,4N



 

 1  :   .

       .

        

)      (  

1     2   .

   t = 200 h     

 I = 288,535 A

 :

  1410659 molCF ..,   :124 molLVm .. 

   /    :
)()(

/
gaq

HH 2)()( / lg
OHO 22.

Q.1    1 :

(E) :  (B) : 2H+  +  2e-         H2    (A) : H2  + 2e- 2H+
   

(D) : O2 + 2H+  + 2e-       H2O    (C) :H2              2H+  + 2e-
   

Q.2     :

(E) :  

eHOH 2222 OH22

eHMnO 584 OHMn 2
2 4

(B)

:

eHO 222        22OH

eHMnO 584 OHMn 2
2 4

(A) :

eHO 222          22OH

eHMnO 584 OHMn 2
2 4

(D)

:

 eHO 222        22OH

eHMnO 144 OHMn 2
2 4

(C) :

Q.3          200   :

(E) :  (D) : n = 538,2 mol(C) : n = 2152,8 mol(B) : n = 10764 mol(A) : n = 1076,4 mol

Q.4         24   :

(E) :  (D) : 2550 L(C) : 1550 L(B) : 775 L(A) : 3100 L

 2  :   .

   V0 = 100mL   S0   H2O2  C0.

   V     H2SO4 2mol.l-1

       S1 V1 = 100mL.



       S1     ( 4MnOK ) 

1150 LmolCox ., .     1430 LmolVox .,   .

 :

   /      :2
4 MnMnO / 

222 OHO /  OHOH 222 /.

     :     H+
.

Q.5   –      :

(E) :
eHOH 2222 OH22

eHMnO 584 OHMn 2
2 4

(B) :eHO 222 22OH

eHMnO 584 OHMn 2
2 4

(A) :

eHO 222 22OH

eHMnO 584 OHMn 2
2 4

(D) :eHO 222 22OH

eHMnO 144 OHMn 2
2 4

(C) :

Q.6     :

(B

(C

(A

(D

 (E

Q.7          :

(E) :  (D) :  (C) :(B) :(A) :

Q.8    C0  S0  :

(E) :  (D) : 0,57mol.L-1(C) : 1,14mol.L-1(B) : 0,76mol.L-1(A) : 2,14mol.L-1

Q.9           :

(E) :  (D) : V 2,70 mL(C) : V 6,84 mL(B) : V 3,42 mL(A) : V 2,30 mL



 3  :  .

   E         

 CH3COOOCCH3 ) d = 1,08   M1 = 102g.mol-1(

 – 1 –   ) d = 0, 8   M1 = 60g.mol-1(.

        ) .(  

 .

 :M(H) = 1g.mol-1  M(C) = 12g.mol-1  M(0) = 16g.mol-1.

Q.10  E   :

(E) :  (D) :    (C) :  (B) :  (A) :  

Q.11   n1    n2  – 1 –    510g   E :

(E) :  (D) n1 = n2 = 10,0mol(C) n1 = n2 = 5,0mol(B) n1 = n2 = 8,5mol(A) n1 = n2 = 7,5mol

Q.12  V1  – 1 –    510g   E  :

(E) :  (D) : V1 = 375,0 mL(C) : V1 = 637,5 mL(B) : V1 = 300,0 mL(A) : V1 = 277,7 mL

Q.13    :

(E) :  (D) :     (C) :    (B) :   (A) :   

Q.14     E  :

(E) :  (B) :

CH3-CH2-C

O

O-CH2-CH3

(A) :

CH3-C

O

O-CH2-CH2-CH3

(D) :

CH2-CH-C

O

CH3
O-CH2-CH3

(C) :

CH3-CH2-C

O

O-CH-CH3

CH3

Q.15      – 1 –  :

(E) :  (D) :  (C) :   (B) :  (A) :   



 4  :    pH.

  VB = 10mL    

 .
)()( /

aqaq
NHNH 34

    

)()( aqaq ClOH3
  11553 LmolC A .,. 

 :

410eK. 

   /      :)()( / laq OHOH 23)()( /
aqaq

NHNH 34
.

Q.16          :

(E) :  (B) :
)()( aqaq NHOH 43 )()( laq

OHNH 23(A) :
)()( aqaq NHOH 33 )()( laq

OHNH 22

(D) :
)()( aqaq NHOH 33 )()( laq

OHNH 24
(C) :

)()( aqaq NHOH 33 )()( laq
OHNO 22

Q.17       4NH :

(E) :  (D) : (C) :(B) :(A) :

Q.18    CB  :

(E) :  (D): 1,31.10-2mol.L -1(C) : 3,1.10-2mol.L -1(B) : 6,31.10-2mol.L -1(A): 3,61.10-2mol.L -1

Q.19    NH4
+/NH3:

(E) :  (D) : Ka = 10-5,3(C) : Ka = 10-6,5(B) : Ka = 6,3.10-10(A) : Ka = 10-11

Q.20     :1710 LmolHO .

(E) :  
(B) : 133105 LmolHO .,(A) : 1710 LmolHO .

(D) : 160105 LmolHO .,(C) : 1999101 LmolHO .,



   

             

1(  T8  :

A. .

B. .

C..

D. .

2(    :

A.        .

B.        .

C.        .

E.        .

3(       :

A.      .

B.      .

C.      .

D.      .

4(      :

A.   Z .

B.   H .

C.     .

D.      .

5(      :

A.   .

B.   .

C.  ADP  .

D.  ATP  .

6(    ATP :

A.       .

B.      .

C.      .

D.       .

7(             :

A.      .

B.     .

C.    .

D.    .

8(         :

A.    .

B.    .

C.      ATP.

D.  ATP    .

9(          :

A.    .

B.    .



C.      ATP.

D.  ATP    .

10(    :

A.    .

B.    .

C.      .

D.      .

11(     :

A.        .

B.     4    .

C.     .

D.     .

12(  :

A.            .

B.           .

C.        .

D.       .

13(           :

A.      .

B.     .

C.       .

D.      .

14(         :

A.      .

B.     .

C.         .

D.         .

15(        :

A.         .

B.          .

C.         .

D.          .

16(      :

A.         .

B.         .

C.          .

D.          .

17(   ARN    ADN  :

A.  .

B.    T4  .

C.       T4.

D.       T4.

18(        :

A.    .

B.     ADN.

C.     ARN.



D.    T4  ADN.

19(    :

A.           ARNm.

B.          ARNm.

C.          ARNt.

D.           ARNt.

20(  ADN     :

A.  .

B.  ARN .

C.  ADN .

D.  .




